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24. Think About a Plan Two office buildings are 51 m apart. The height of the taller
building is 207 m. The angle of depression from the top of the taller building to

the top of the shorter buildingis 15°. Find the height of the shorter building to the
nearest meter.

+ How can a diagram help you?

« How does the angle of depression from the top of the taller building relate to the
angle of elevation from the top of the shorter building?
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34, Firefighting A frefighter on the ground sees fire break through a
window ncar the top o the bulding. The angle of clevation o the
windowsillis 28" The angle of clevation o the top of the building.
15 42° The firfighter s 75  from the bullding and her eyes are 5
sbove the ground. What oof-to-windowsil distance can she
report by radio o firefighters on the roof?

35. Geagraphy For locations in the United Sates,th relasionship
between the laitude f and the greatestangle of levation aof the
sun at noon on the irst day of summeris a = 90° — € + 235
Find the laitude of you town. Then determine the greatestangle
of elevation of the sun foryour town on the irstday of summer
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Find the value of each variable. If your answer is not an integer, express it

in simplest radical form.
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which a 20-cm chopstick can fit along a diagonal without any overhang? Round
your answer o the nearest tenth of a centimeter.
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Algebra Find the value of each variable. If your answer isnot an integer, 49 See Problems
express it in simplest radical form.
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Algebra Find the value of each variable. If your answer is not an integer,
express it in simplest radical form.
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Write each ratio.
1.sinA
3. tanA
5.cosB

2.cosA
4.sinB
6. tan B
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Write the ratios for sin M, cos M, and tan M. ® SeePre
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Find the value of x. Round to the nearest tenth. @ SeePrc
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20. Recreation A skateboarding ramp s 12 in. high and rises at an angle of 17°. How
longis the base of the ramp? Round to the nearest inch.

21. Public Transportation An escalator in the subway station has a vertical rise of
195 ft9.5 in., and rises at an angle of 10.4°. How long s the escalator? Round to
the nearest foot.
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Find the value of x. Round o the nearest degree. ® SeeP
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Find the values of w and then x. Round lengths to the nearest tenth and angle

measures to the nearest degree.
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37. a. In AABC at the right, how does sin A compare to
cos B? Is this true for the acute angles of other
right triangles?
b. Reading Math The word cosine is derived from the
‘words complement’s sine. Which angle in AABC is

A
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19. Meteorology A meteorologist measures the angle of elevation of a weather
balloon as 41°. A radio signal from the balloon indicates that it is 1503 m from his
location, To the nearest meter, how high above the ground is the balloon?

Find the value of x. Round to the nearest tenth of a unit. 4

20. 21. Sy

2km

22. Indirect Measurement A tourist looks out from the crown of the Statue of Liberty,
approximately 250 ft above ground. The tourist sees a ship coming into the harbor
and measures the angle of depression as 18°. Find the distance from the base of the
statue to the ship to the nearest foot.

23. Flagpole ‘The world's tallest unsupported flagpole is a 282-f-tall steel pole in
Surrey, British Columbia. The shortest shadow cast by the pole during the year is
137 ftlong. To the nearest degree, what is the angle of elevation of the sun when
casting the flagpole’s shortest shadow?




